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NEW QUESTION 1
A high-density wireless network is designed. Which Cisco WLC configuration setting must be incorporated in the design to encourage clients to use the 5 GHz
spectrum?

A. Band Select
B. RRM
C. Cisco Centralized Key Management
D. load balancing

Answer: A

NEW QUESTION 2
A wireless engineer is hired to design a network for a technology company. The company campus has four buildings and a warehouse with access points that
provide full wireless coverage as well as a pair of WLCs located in the core of the network. Which type of wireless architecture is being used?

A. unified deployment
B. autonomous deployment
C. centralized deployment
D. distributed deployment

Answer: C

NEW QUESTION 3

Refer to the exhibit. What is the main reason why the Wi-Fi design engineer took a different approach than installing the APs in the offices, even though that
installation provides better coverage?

A. aesthetics
B. transmit power considerations
C. antenna gain
D. power supply considerations

Answer: B

NEW QUESTION 4
An engineer is designing a wireless network that will support many different types of wireless clients. When conducting the survey, which client must be used to
ensure a consistent experience for all of the wireless clients?

A. the client that has the highest RF properties
B. the client that is used most by the company
C. the client that is used least by the company
D. the client with the worst RF characteristics

Answer: B

NEW QUESTION 5
An engineer has performed a predictive site survey for high-speed data and voice in an indoor office. What is the recommended data rate with -67 dBm signal level
for optimal VoWLAN design?

A. 6 Mbps on 802.11 bgn
B. 24 Mbps on 802.11 bgn
C. 12 Mbps on 802.11 an
D. 24 Mbps on 802.11 an

Answer: B

NEW QUESTION 6
An engineer has configured guest anchoring for a newly created SSD however, the mobility tunnels are not up, and EPING is failing from the foreign WLC to the
anchor WLC. Which traffic flow must be allowed at the firewall to enable the communication?

A. UDP port 16666
B. IP protocol 97
C. UDP port 97
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D. TCP port 97

Answer: A

NEW QUESTION 7
Which statement about the 9800 Series Wireless Controller mobility tunnel on a Cisco Catalyst 9800 controller is true?

A. It is an IPsec tunnel with control path only.
B. It is a CAPWAP tunnel with data path only.
C. It is a CAPWAP tunnel with control path and data path.
D. It is an IPsec tunnel with control path and data path.

Answer: B

NEW QUESTION 8
An engineer is performing a predictive wireless design for a medical treatment environment, which requires data and voice services. What is the minimum
requirement for the design?

A. overlapping -72 dBm coverage from two access points
B. continuous -67 dBm coverage from one access point
C. continuous -72 dBm coverage from one access point
D. overlapping -67 dBm coverage from two access points

Answer: B

NEW QUESTION 9
A wireless engineer is designing a wireless network for a warehouse using access points with internal antennas. Which two elements have a negative effect on the
wireless users? (Choose two.)

A. wireless channels
B. access point height
C. client authentication
D. client authorization
E. absorption

Answer: BE

NEW QUESTION 10
An engineer must ensure that the wireless network can accomplish fast secure roaming by way of caching keys on the access points. Which key caching
mechanism is enabled by default on a Cisco AireOS WLC?

A. SKC
B. OKC
C. 802.11r
D. CCKM

Answer: D

NEW QUESTION 10
A technician connects a Cisco Aironet 3700 Series access point to a switch and realizes that the AP is coming up with 3x3 MIMO. Which reason explains this
behavior?

A. A redundant power supply is unavailable on the switch.
B. The switch is 802.3af capable.
C. The AP is getting power from a power injector.
D. The switch is PoE+ capable.

Answer: D

NEW QUESTION 13
Which CLI command does an engineer use to validate that the redundancy peer of a Stateful Switchover pair of controllers is up and connected?

A. rping
B. ping
C. eping
D. mping

Answer: B

NEW QUESTION 16
An engineer must decide the cell overlap for a wireless voice deployment. Which Cisco measurement recommendation should be considered?

A. The edge of the cell should be -67 dBm.
B. The edge of the cell should be below 35 RSSI.
C. The measurement should be done on the 2.4-GHz band.
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D. One AP should be deployed per 3000 square feet.

Answer: A

NEW QUESTION 19
A wireless engineer is utilizing the voice readiness tool in Cisco Prime for a customer that wants to deploy Cisco IP phones. Which dBm range is the network
inspected against?

A. -78 to -65 dBm B.-72 to -67 dBm
B. 85 to -65 dBm
C. -85 to -67 dBm

Answer: D

NEW QUESTION 20
A wireless deployment in a high-density environment is being used by vendors to process credit card payment transactions via handheld mobile scanners. The
scanners are having problems roaming between access points in the environment. Which feature on the wireless controller should have been incorporated in the
design?

A. RX SOP
B. 802.11w
C. AP Heartbeat Timeout
D. Application Visibility Control

Answer: A

NEW QUESTION 21
During a client roaming event, which device is responsible for communicating the new Layer 2 EID mapping of a wireless supplicant to the fabric domain?

A. WLC
B. BN
C. CP2
D. CP1

Answer: A

NEW QUESTION 25
......
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